ASSEMBLY TEMPLATE

NOTE:

1. MODEL VIEWS MAY NOT REPRESENT EXACT MODEL PURCHASED

ARS-4030

ASSEMBLY INSTRUCTIONS

AUGMENTED REALITY SANDBOX

DN EMK | SATE | 12/22/16

APR DATE

BY: APR:
APR DATE
BY: APR:

UNLESS OTHERWISE SPECIFIED
DIMENSION ARE IN INCHES

CABINET SQUARENESS +.0625
FRACTIONAL VALUES + 1/32"
- ALL VALUES + OVERALL -

300 South Krueger Street
Suring, WI 54174
diversifiedwoodcrafts.com

A

CREATED DRAWING

[ r2mane [ emc |

REV. |

DESCRIPTION

DATE

| nave | ecnno

REVISION LEVEL

THIS DRAWING IS THE SOLE PROPERTY OF
DIVERSIFIED WOOD CRAFTS. IT MAY NOT
BE ALTERED OR CHANGED WITHOUT
PERMISSION

TITLE:

AUGMENTED REALITY SANDBOX

ASSEMBLY INSTRUCTIONS

DRAWING NUMBER:

ARS-4030

SCALE

NTS

SHEET:

1 OF8

REVISION

REV A

K:\DIVERSIFIED\ASSEMBLY INSTRUCTIONS\AUGMENTED REALITY SANDBOX\ARS-4030 - ASSY INSTRUCTIONS.dwg, 2/2/2017 11:39:26 AM, DWG To PDF.pc3




IN'HOUSE ASSEMBLY TEMPLATE

PALLET CONTENTS
ITEMS INCLUDED PART # PART DESCRIPTION QTY
SANDBOX ASSEMBLY (FACTORY
SANDBOX ASSEMBLY N/A ASSEMBLED) 1
APRON ASSEMBLY (FACTORY
APRON ASSEMBLY N/A ASSEMBLED) 1
ALUMINUM EXTRUSION ASSEMBLY N/A ALUMINUM EXTRUSION ASSEMBLY 1 :
1 (FACTORY ASSEMBLED)
ALUMINUM EXTRUSION ASSEMBLY N/A ALUMINUM EXTRUSION ASSEMBLY 2 :
2 (FACTORY ASSEMBLED)
STRETCHER N/A STRETCHER - 0.75"THK X 2.50"W X 26.88"L 1
BRACE N/A BRACE - 0.75"THK X 2.50"W X 35.38"L 2
LAPTOP SHELF W/ HARDWARE N/A LAPTOP SHELF - 0.75'THK X 14.00"W X !
ATTACHED 17.00"L
*LEGS* - SEE NOTE 1 500100 LEG,OAK 2.25X2.25X28.25 4
*WASHERS* - SEE NOTE 1 100039 WASHER,SPLIT LOCK 5/16 4
*HEX NUTS* - SEE NOTE 1 100044 NUT,HEX 5/16-18 STEEL ZINC 4
*CASTERS* - SEE NOTE 1 247870 CASTER,3IN,SWIVEL,% DIA STEM 4
*CONFIRMATS - STRETCHER* 228564 SCREW]MMXSO'\Q&SSNN'ALLENHEAD' 4
*CONFIRMATS - BRACE* 297578 SCREW,7MMX90MM,CONN,ALLENHEAD, 8
BLACK
LAPTOP 252560 ORYX PRO (ORXP1) LAPTOP 1
CAMERA/SENSOR BAR 252554 XBOX 360 KINECT SENSOR BAR 1
BENQ 9H.JE177.13A MX631ST
PROJECTOR 252555 PROJECTOR 1
MISC ITEMS - SEE NEXT PAGE FOR
HARDWARE BOX N/A CONTENTS 1
T-SLOT COVER 252812 10 SERIES T-SLOT COVER, BLACK 1.34 LF
NOTE: E}Y: EMK g‘ﬁ% 12/22/16 300 South Krueger Street
- e DIVERSIFIED suring, W1 54174
1. LEGS, WASHERS, HEX NUTS & CASTERS ARE BOXED TOGETHER. BY: APR YoooERAFTS I HE diversifiedwoodcrafts.com
UNLESS OTHERWISE SPECIFIED
DIMENSION ARE IN INCHES TLE:
A e = 090 AUGMENTED REALITY SANDBOX
anous Xt 010 PALLET CONTENTS
CABINET SQUARENESS * .0625
A [ CREATED DRAWING [ 12/22/16 [ EMK [ - THIS DRAWING IS THE SOLE PROPERTY OF DRAWING NUMBER: SCALE SHEET: REVISION:
ReV. | DESCRIPTION | oae | name [ Eecnno. Eévjffégggé’fg&i'&gw;mg&'“m
DIVERSIFIED\ASSEMBLY-INSTRUCHONS\AUGMENTED-REAIH SANDBOX\ARS-4030—ASSYINSTREEHONS dwe2/2/2017-11:39:48-AM, D\v@%?ﬂgpg NTS |20F8 |REV A




IN'HOUSE ASSEMBLY TEMPLATE

HARDWARE BOX PACKING LIST

SCREW (BHSCS)

ITEMS INCLUDED PART # PART DESCRIPTION QrY PACKED
PROJECTOR MOUNTING BLOCK 950793 PROJECTOR MOUNTING BLOCK - 0.50'THK X :
(SCREWS AND T-NUTS ATTACHED) 3.875"W X 9.00'L
MOUNTING BLOCK N/A MOUNTING BLOC%O]".LB THK X 2.25'W X :
SCREWS - APRON ASSEMBLY TO
SANDBOX ASSEMBLY 100641 SCREW, #8X1-3/4 QUAD RD WASH HD 14
SCREW, 1/4-20X60MM,CONN,
CONFIRMATS - MOUNTING CLEAT 252459 ALLENHEAD.BLACK 4
CONFIRMATS - SANDBOX 252460 SCREW, 1/4-20X20MM,CON,ALLENHEAD BLK 4
JOINT CONNECTING NUT - MOUNTING
CLEAT & SANDBOX 234337-JCN JOINT CONNECTING NUT, 1/4-20X17MM 8
HDE POWER SUPPLY AC CABLE ADAPTER
CABLE ADAPTER 252557 FOR XBOX KINECT MOTION SENSOR ]
CAMERA MOUNT (SCREWS AND
TNUTS ATTACHED) 252556 KINECT SENSOR TV MOUNT CLIP 1
HDMI CABLE 252579 CABLE,HDMI, 6 FEET ]
L BRACKET - 8 HOLE 252561 10 SERIES 8 HOLE - INSIDE CORNER BRACKET 4
T-NUT - DOUBLE 252569 1/4-20 DOUBLE SLIDE-IN ECONOMY T-NUT 16
SCREWS - (FOR LBRACKETS & T-NUTS) 252566 1/4-20 X 0.500" BUTTON HEAD SOCKET CAP 2

NOTE:

TOOLS REQUIRED

Y4 WRENCH

)4 SOCKET AND TORQUE WRENCH - OPTIONAL

4MM ALLEN WRENCH (FOR CONFIRMATS)

SMM ALLEN WRENCH (FOR JCN)

5/32" ALLEN WRENCH (FOR 1/4"-20x1/2" SCREWS)

1/8" ALLEN WRENCH (FOR #10-32x3/8" SCREWS)

PHILLIPS SCREWDRIVER

DWN
DATE:
DATE
APR:
DATE
APR:

2N EMK 12/22/16

APR
BY:

APR
BY:

UNLESS OTHERWISE SPECIFIED

300 South Krueger Street

Suring, WI 54174

diversifiedwoodcrafts.com

DIMENSION ARE IN INCHES TLE:

ANGLES: =+ 190"
CABINET SQUARENESS + 0625

CCREATED DRAWING

[ 2226

AUGMENTED REALITY SANDBOX
HARDWARE BOX PACKING LIST & TOOLS REQUIRED

THIS DRAWING IS THE SOLE PROPERTY OF
DRAWING NUMBER:

A
ReV. | DESCRIPTION

DIVERSIFIED WOOD CRAFTS. IT MAY NOT
BE ALTERED OR CHANGED WITHOUT

1
[ oar |

SCALE:

NTS

SHEET:

30F8

REVISION:

REV A

LV INETRUCTIONS\AUGMENTED-REA PR EANDRO
MIBEY NS TRUCHONS AU GMENTED-REALHHY

SANDB

RN ONS o 2/2/20317-11:39:53-AM I'\\IAR)S-4Q Q
INSH HONS-dwe; 017-11:39:53-AM DWGToPDFPES




ASSEMBLY TEMPLATE

~ ROUNDED EDGES FACING UP

STEP 1:

LAY APRON ASSEMBLY ON FLOOR
WITH ROUNDED EDGES FACING UP.

NOTE:

INSERT HANGER BOLT ——
THROUGH HERE WITH LOCK
WASHER AND HEX NUT

:

g

CLOSE UP OF CORNER LEG ASSEMBLY

~

STEP 2:

INSERT HANGER BOLT ON ONE OF THE LEGS THROUGH
THE CORNER BRACKET, MAKING SURE THAT THE THRU
HOLES RUN PARALLEL TO THE LONG APRONS (SEE STEP 3
FOR CLOSE UP) AND INSERT LOCK WASHER AND HEX
NUT. USING A J5" WRENCH OR /5" SOCKET AND TORQUE
WRENCH, SCREW ON THE NUT BUT DO NOT TIGHTEN ALL
THE WAY. REPEAT FOR OTHER LEGS.

CASTERS —~

TN

CLOSE UP OF CASTER ASSEMBLY

STEP 3:

ATTACH CASTERS TO
BOTTOM OF LEGS.

USING A 4MM ALLEN WRENCH, INSERT THE CONFIRMATS INTO ONE LEG
AND SCREW INTO BRACE. REPEAT ON OTHER LEGS. MAKE SURE BRACES
ARE STRAIGHT AND ALL CONFIRMATS ARE TIGHT. ATTACH STRETCHER
TO CENTER OF BRACES USING THE CONFIRMATS PROVIDED. GO BACK
TO STEP 2 AND TIGHTEN UP THE HANGER BOLTS FOR EACH LEG USING
AY," WRENCH OR }4" SOCKET AND TORQUE WRENCH, TO A MINIMUM
OF 12FT LBS BUT NOT TO EXCEED 17FT LBS .

STEP 4:

DN EMK | SATE | 12/22/16

300 South Krueger Street

APR DATE
BY: APR:
APR DATE
BY: APR:

DIVERSIFIED

WOODGCRAFTS, INGC

Suring, WI 54174

FRACTIONAL VALUES + 1/32"
- ALL VALUES + OVERALL -

UNLESS OTHERWISE SPECIFIED
DIMENSION ARE IN INCHES

CABINET SQUARENESS +.0625

diversifiedwoodcrafts.com

TITLE:
AUGMENTED REALITY SANDBOX
ASSEMBLY INSTRUCTIONS

A[ CREATED DRAWING [ 12/22/16 [ EMK

ReV. | DESCRIPTION [ oA | name |

ECN NO.

REVISION LEVEL

PERMISSION

THIS DRAWING IS THE SOLE PROPERTY OF sore Toem
DIVERSIFIED WOOD CRAFTS. IT MAY NOT | DRAWING NUMBER Al :
BE ALTERED OR CHANGED WITHOUT

REVISION:

ARS-4030 NTS | 40F8 |REV A

K:\DIVERSIFIED\ASSEMBLY INSTRUCTIONS\AUGMENTED REALITY SANDBOX\ARS-4030 - ASSY INSTRUCTIONS.dwg, 2/2/2017 11:39:59 AM, DWG To PDF.pc3




ASSEMBLY TEMPLATE

NOTE:

/
SANDBOX —~

STEP 5:

SET APRON FRAME ON TOP OF SANDBOX AND
ATTACH TO SANDBOX WITH THE 14 - #8X1-3/4 QUAD
RD WASH HD SCREWS PROVIDED. MAKE SURE THAT
THE 4 HOLES IN THE BRACE ARE ON THE SAME SIDE AS
THE 4 HOLES IN THE SANDBOX (SEE PHOTO IN STEP 6)

- APRON FRAME

STEP 6:

/~ SANDBOX FACING UP

CASTERS
ONTO
FLOOR

WITH HELP FROM ANOTHER PERSON, FLIP
UNIT OVER SO ITIS ON THE CASTERS.

L BRACKET - TYPICAL —/
(PN 252561)

“— ATTACH L BRACKETS TO
PROFILE WITH SCREWS
(PN 252566) AND T-NUTS
(PN 252569) PROVIDED

\_ 1-SLOTTED PROFILE
(ALUMINUM
EXTRUSION
ASSEMBLY 1)

CLOSE UP OF ALUMINUM EXTRUSION WITH L BRACKETS
ATTACHED

STEP 7:

SLIDE 2 L-BRACKETS ASSEMBLIES ONTO EACH
SIDE OF THE T-SLOTTED PROFILE (ALUMINUM
EXTRUSION ASSEMBLY 1) THE TOP BRACKETS CAN
BE LEFT LOOSE FOR NOW. POSITION THE BOTTOM
BRACKETS SO THEY ARE FLUSH WITH THE BOTTOM
OF THE ALUMINUM EXTRUSION AND TIGHTEN.

DN EMK | SATE | 12/22/16

APR DATE

BY: APR:
APR DATE
BY: APR:

UNLESS OTHERWISE SPECIFIED
DIMENSION ARE IN INCHES

CABINET SQUARENESS +.0625
FRACTIONAL VALUES + 1/32"
- ALL VALUES + OVERALL -

DI

FIED

WOODGCRAFTS, INGC

300 South Krueger Street
Suring, WI 54174
diversifiedwoodcrafts.com

Al

CREATED DRAWING

[ hemens | emx

ReV. |

DESCRIPTION

l

DATE

| ~Name | eenno.

REVISION LEVEL

THIS DRAWING IS THE SOLE PROPERTY OF
DIVERSIFIED WOOD CRAFTS. IT MAY NOT
BE ALTERED OR CHANGED WITHOUT
PERMISSION

TITLE:

AUGMENTED REALITY SANDBOX

ASSEMBLY INSTRUCTIONS

DRAWING NUMBER:

ARS-4030

SCALE SHEET: REVISION:

NTS | 50F8 |[REV A

K:\DIVERSIFIED\ASSEMBLY INSTRUCTIONS\AUGMENTED REALITY SANDBOX\ARS-4030 - ASSY INSTRUCTIONS.dwg, 2/2/2017 11:40:09 AM, DWG To PDF.pc3




ASSEMBLY TEMPLATE

CONFIRMATS - SANDBOX —
(PN 252460)

SANDBOX

MOUNTING ~
BLOCK

- ALUMINUM EXTRUSION 9
ASSEMBLY 1

OUTSIDE OF SANDBOX ASSEMBLY SHOWN CONFIRMATS - MOUNTING CLEAT
(PN 252459)

STEP 8:

NOTE:

7/

©

n

SANDBOX

\— JOINT CONNECTING
NUT (PN 234337-JCN)

INSIDE OF SANDBOX ASSEMBLY SHOWN

ATTACH ALUMINUM EXTRUSION ASSEMBLY 1 TO SANDBOX AND MOUNTING BLOCK BY POSITIONING L BRACKETS TO HOLES ON TOP OF SANDBOX
AND TO THE HOLES ON MOUNTING BLOCK. ATTACH L BRACKETS BY INSERTING CONFIRMATS ON THE OUTSIDE OF SANDBOX AND MOUNTING BLOCK
AND THE JOINT CONNECTING NUT ON THE INSIDE. TIGHTEN CONFIRMATS AND THEN TIGHTEN TOP L-BRACKET SCREWS.

METAL OVERHANG —

BAR (ALUMINUM
EXTRUSION
ASSEMBLY 2)

PROJECTOR MOUNT
W/SCREWS & T-NUTS
(PN 252793)

STEP 9:

SLIDE PROJECTOR MOUNTING BLOCK ONTO METAL
OVERHANG BAR (ALUMINUM EXTRUSION ASSEMBLY
2) FROM THE BOTTOM. ATTACH WITH HARDWARE

PROVIDED. DO NOT TIGHTEN ALL THE WAY.

UUUULLULLLLY

BUUUMULLLL G

DN EMK | SATE | 12/22/16

APR DATE
BY: APR:
APR DATE
BY: APR:

UNLESS OTHERWISE SPECIFIED
DIMENSION ARE IN INCHES

CABINET SQUARENESS +.0625
FRACTIONAL VALUES + 1/32"
- ALL VALUES + OVERALL -

DI

WOODGCRAFTS, INGC

300 South Krueger Street

FIED suring, WI 54174
diversifiedwoodcrafts.com

A ‘ CREATED DRAWING

[ r2mane [ emc |

REV. ‘ DESCRIPTION

DATE

| nave | ecnno

REVISION LEVEL

THIS DRAWING IS THE SOLE PROPERTY OF
DIVERSIFIED WOOD CRAFTS. IT MAY NOT
BE ALTERED OR CHANGED WITHOUT
PERMISSION

TITLE:

AUGMENTED REALITY SANDBOX
ASSEMBLY INSTRUCTIONS

DRAWING NUMBER:

SCALE

ARS-4030 NTS

SHEET:

6OF8

REVISION:

REV A

K:\DIVERSIFIED\ASSEMBLY INSTRUCTIONS\AUGMENTED REALITY SANDBOX\ARS-4030 - ASSY INSTRUCTIONS.dwg, 2/2/2017 11:40:15 AM, DWG To PDF.pc3




ASSEMBLY TEMPLATE

METAL OVERHANG BAR
(ALUMINUM EXTRUSION
ASSEMBLY 2)
N
_~ LBRACKETS
~ LAPTOP SHELF
ASSEMBLY
-~ TIGHTEN ASSEMBLIES HERE
AND ON OTHER SIDE
T-SLOTTED PROFILE —— el NA
(ALUMINUM EXTRUSION \ ]
ASSEMBLY 1) YH-DO .
EI:[Q ) L DROP LEAF
‘ K SUPPORT
© ©
|
© ©
STEP 10: STEP 11:
ASSEMBLE T-NUTS (PN 252569) AND SCREWS (PN 252566) TO THE 8-HOLE SLIDE LAPTOP SHELF L-BRACKETS UP THE SIDES OF THE T-SLOTTED PROFILE UNTIL THEY ARE TIGHT TO
PLATES. SLIDE METAL OVERHANG BAR (ALUMINUM EXTRUSION ASSEMBLY THE 8-HOLE FLAT PLATE, AND TIGHTEN SCREWS. SLIDE THE BOTTOM END OF THE DROP LEAF
2) INTO T-SLOTTED PROFILE (ALUMINUM EXTRUSION ASSEMBLY 1). TIGHTEN SUPPORT UP THE FACE OF THE T-SLOTTED PROFILE, GUIDING THE ATTACHED T-NUTS INTO THE
THE TWO ASSEMBLIES TOGETHER. MAKE SURE ALL SCREWS ARE TIGHT GROOVES. FULLY ENGAGE THE DROP LEAF AND RAISE IT UP UNTIL THE SHELF IS SITTING PARALLEL TO
BEFORE MOVING ON. GO BACK TO STEP 9 AND TIGHTEN PROJECTOR THE FLOOR, TIGHTEN THE SCREWS TO SECURE IT IN PLACE.

MOUNTING BLOCK ONTO ALUMINUM EXTRUSION ASSEMBLY 2. MAKE
SURE BOTTOM OF MOUNT SITS ABOUT 15" FROM TOP OF ALUMINUM
EXTRUSION ASSEMBLY 1. FINAL DIMENSION WILL BE ADJUSTED ONCE
CAMERA AND PROJECTOR ARE MOUNTED IN STEP 13.

DWN DWN
NOTE: i | EMK Jorre 1272271 300 South Krueger Street
' DIVERSIFIED Suring, Wi 54174

APR DATE

BY: APR: WOODGRAFTS, ING . o
1. ELECTRONIC COMPONENTS NOT SHOWN. s —— diversifiedwoodcraffs.com
DIMENSION ARE IN INCHES e
CABINET SQUARENESS + 0625 AUGMENTED REALITY SANDBOX
R CValUESs YoveaaLL 2 ASSEMBLY INSTRUCTIONS
A CREATED DRAWING [ r2mane [ emc | - THIS DRAWING IS THE SOLE PROPERTY OF [ Ak P preyre
DIVERSIFIED WOOD CRAFTS. IT MAY NOT : '
Rev. | DESCRIPTION | owe | wave | eonno |gRiRRE OR CHANGED WITI:AOUT

REVISION LEVEL PERMISSION ARS-403O NTS 70F8 |[REV A

K:\DIVERSIFIED\ASSEMBLY INSTRUCTIONS\AUGMENTED REALITY SANDBOX\ARS-4030 - ASSY INSTRUCTIONS.dwg, 2/2/2017 11:40:24 AM, DWG To PDF.pc3




ASSEMBLY TEMPLATE

rirpirireieirireirte e e e =

METAL OVERHANG BAR —
(ALUMINUM EXTRUSION ~ \
ASSEMBLY 2)

uuy

\) JUUULUULL G

PATATAATAY

- CAMERA MOUNT (PN
252556) W/SCREWS &
T-NUTS ATTACHED.

STEP 12:
SLIDE THE CAMERA MOUNT UP ONTO THE ALUMINUM EXTRUSION
ASSEMBLY, GUIDING THE T-NUTS INTO THE SLOTS. SLIDE IT UP UNTIL THE

BOTTOM LIP OF THE MOUNT IS AGAINST THE ALUMINUM. TIGHTEN THE
SCREWS.

NOTE:

1. ELECTRONIC COMPONENTS NOT SHOWN.

L RUN CAMERA WIRE THRU
T-SLOT AND CAP WITH
T-SLOT COVER.

PROJECTOR MOUNT ~/

T CAMERA MOUNT

STEP 13:

LINE THE PROJECTOR UP WITH THE 3 MOUNTING HOLES IN THE BRACKET
AND ATTACH USING THE 3 SCREWS (PN 252719) PROVIDED. SNUG THE
SCREWS AND MAKE SURE THE PROJECTOR IS AS PARALLEL TO THE
SANDBOX AS POSSIBLE AND TIGHTEN. SNAP THE KINECT 3D CAMERA
ONTO THE CAMERA MOUNT. DOUBLE CHECK TO M AKE SURE THE LENS OF
THE PROJECTOR IS IN LINE WITH THE KINECT CAMERA, IF NOT ADJUST THE
PROJECTOR MOUNTING BLOCK UP OR DOWN AS NEEDED AND
RE-MOUNT THE PROJECTOR. KINECT CABLE CAN BE RUN INSIDE THE
T-SLOT ON THE SIDE OF THE ALUMINUM OR ON TOP. CAP THIS OFF WITH
THE T-SLOT COVER (PN 252812) TO HOLD WIRE IN PLACE. TAP COVER
INTO SLOT WITH A RUBBER MALLET.

(PP LP{PLVIVIP P P P PLVIVIF P P PLPLPIVIVIFIP\P P PIVIVIPIPPAPF]

E\I;&

g

COMPLETE UNIT SHOWN
STEP 14:
YOUR AUGMENTED REALITY SANDBOX IS NOW ASSEMBLED.

PROCEED TO THE SETUP AND CALIBRATION MANUAL FOR THE
ELECTRONICS AND SOFTWARE WALKTHROUGH.

DWN
BY:

EMK

DWN
DATE:

12/22/16

APR
BY:

DATE
APR:

APR
BY:

DATE
APR:

UNLESS OTHERWISE SPECIFIED
DIMENSION ARE IN INCHES

CABINET SQUARENESS +.0625
FRACTIONAL VALUES + 1/32"
- ALL VALUES + OVERALL -

300 South Krueger Street
Suring, WI 54174
diversifiedwoodcrafts.com

DI FIED

WOODGCRAFTS, INGC

[ r2mane [ emc |

A .
DAE | NAME | ECNNO

REV. |

CREATED DRAWING
DESCRIPTION |
REVISION LEVEL

THIS DRAWING IS THE SOLE PROPERTY OF
DIVERSIFIED WOOD CRAFTS. IT MAY NOT
BE ALTERED OR CHANGED WITHOUT

PERMISSION

TITLE:
AUGMENTED REALITY SANDBOX
ASSEMBLY INSTRUCTIONS

SCALE SHEET: REVISION:

REV A

DRAWING NUMBER:

ARS-4030 NTS | 8OF8

K:\DIVERSIFIED\ASSEMBLY INSTRUCTIONS\AUGMENTED REALITY SANDBOX\ARS-4030 - ASSY INSTRUCTIONS.dwg, 2/2/2017 11:40:39 AM, DWG To PDF.pc3




